NOT IN trap

NOT IN behaves differently from IN. If any member of the NOT IN list is NULL, the entire result set returned is NULL. The same is not true of the IN list. So be careful with the routines you write which use IN/NOT IN against unnested collections. You need to be sure the caller is not passing you NULLs in the collection, or your routine could return bad results.

CREATE OR REPLACE PROCEDURE new_bol(ian_bol_num IN tnt_num)
IS
   lan_new_bol tnt_num;
BEGIN
   SELECT b.column_value
   BULK COLLECT INTO lan_new_bol
   FROM   my_bol b
   WHERE  b.bol_num NOT IN (
             SELECT o.column_value
             FROM   TABLE(ian_bol_num)
          );
   
   IF (lan_new.COUNT > 0) THEN
      msg.p('The following BOL''s are new: '||
         numbers.fs_make_list(lan_new))
   ELSE
      msg.p('No new BOL''s found;');
   END IF;
END new_bol;

DECLARE
   lan_old tnt_num := tnt_num(1,2,3);
   lan_old2 tnt_num := tnt_num(1,NULL,2,3);
BEGIN
   DELETE FROM my_bol;
   INSERT INTO my_bol VALUES (
      1
   ,  nto_mydtl(
         to_mydtl(
            1111
         ,  'A'
         ,  SYSDATE-3
         )
      ,  to_mydtl(
            1112
         ,  'B'
         ,  SYSDATE-3
         )
      )
   );
   INSERT INTO my_bol VALUES (2, nto_mydtl());
   INSERT INTO my_bol VALUES (3, nto_mydtl(to_mydtl(3333,'D',SYSDATE-1)));
   INSERT INTO my_bol VALUES (4, nto_mydtl(to_mydtl(4444,'E',SYSDATE)));

   -- should return 4 as the only new bill
   msg.p('Sending array all neatly packed');
   new_bol(lan_old); 
   
   -- would return 4 as the only new bill if the list didn't contain a null
   msg.p(CHR(10)||'Sending array with a sneaky NULL in the middle');
   new_bol(lan_old2); 
   
END;

/*********************************** OUTPUT ************************************

Sending array all neatly packed
The following BOL's are new: 4

Sending array with a sneaky NULL in the middle
No new BOL's found
*/
